50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

15SMAT21

ester B.E. Degree Examinﬁijﬁdn, July/August 2021

g/ Engineering Mathematics - 1l

fRy° %, “Max. Marks: 80
Note: Answer anj} FIVE full questions.

3 2 b W
Solve : l!+3%+3gi+y=6e“"+7. ' (06 Marks)
Solve : (D2 —-4D + 13)y e’ cos3x w (05 Marks)
Solve : y"+y' =x*+¢” by usmg the method of undetermmed co-efficients. (05 Marks)
2 ' .
Solve : d—); - 4% +13x =x2. (06 Marks)
dt dt- O
Solve : y" 2y + y xe*sinx . o~ Ny (05 Marks)
Solve : (D2 “ih l)y = cOSecx.cotx using method of variation of parameter. (05 Marks)
Solve * lxzy"’ +3xy"+y =x* log;,x S~ N (06 Marks)
Solve : xyp® +p(3x* —2y?) — 6xy.=0. N\ 4 (05 Marks)
Solve : p* —4xyp +8y? =0. ¢ i % R (05 Marks)
Solve : (1+2x)°y" =214 20)y ~12y = 6x( . (06 Marks)
Solve : y+px = p x% \ N Ay S (05 Marks)
Reduce to Clalraut S form using substltutlon x> =u and y2 v and solve :
(Px ~y)(X~Ppy).=2p. % ¢ (05 Marks)
Construct part1al dlfferentlal equatlon of, z=yf (x) + xg(y) (06 Marks)
2
Solve .cos”3x subject to the condltlons z(x,0)=0 and z,(0,t)=0. (05 Marks)
§ »‘ : By ) 7 A‘M;"” - 2’ i
- Obtain various posSibl? solution of % C”% . (05 Marks)

Form a part1a1 dlfferentlal equatlon by eliminating the arbitrary function from,

(I)[x +y? dz? 2 2xy] 0. % (06 Marks)

Solve: Z , +4z=0 glven that atx=0,z=¢" and z, =2. (05 Marks)
2 2

Derive one- dlmensmnal wave equatlon in the form % C— O’ (05 Marks)

ox*’

1o0f2
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Evaluate : ”y dx dy where R is the region bounded by the ”ﬁ‘grdﬁolas y* =4x and x* =4y.
R Faih V4

(06 Marks)
ax x+y ‘u,;' :
Evaluate : [ [ [e** dz dy dx. e (05 Marks)
00 0 ’ /
Prove that FGJ=\/E' ' R (05 Marks)
4a 24/ax ’f X
Evaluate I Idy dx by changing order of integration. Ve (06 Marks)
0 QP o v
Find the volume generated by the revolution of the cardioids r =a(l+cos6). (05 Marks)
Show that |+/sin0dOx | -———=m. QN 4 (05 Marks)
{ ’ eat _veb(
Find (i) L[gos{t cos2t coth]. (10) «LI: 't :| (06 Marks)
Find L[(t)] of
a7 n
|Esinot 0<t<T
f(t)= . o s o )
0 —<t<— ° \3% ¥ A . 1BRARY
w Aoy Ry -  y7cMRIL V0 i
2 4 - vaine L

where f(t+g1zj=f(t)‘. >
w

Q, E and w are constant. 4 ~Yy (05 Marks)
Find the inverse Laplace transform oﬁ F(s)= # . (05 Marks)
| 9 (s+1)(s+2)
Find (i) ,‘L[e‘t (2 cos5t—3 sm 5t)] " (i1) L[t3 cosh at] (06 Marks)
. Usihg convolution theorem, find inverse Laplace transform of —12— . (05 Marks)
\ 24 £ ' Y \ (S + 1)(S + 1)

2

d

. /Solve using Laplace transform, %?X + 4’d—3t, +4y=¢"" giveny(0)=0and y'(0)=0.

(05 Marks)

% %k ok ok

20f2



